Virginia High School League

Scholastic Bowl, 2001-02 season

District Competition, Match #28

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Adam Fine and Andy Goss are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
What nine-letter word describes the survival of memory over a period of time?

ANSWER: RETENTION
2.  
He composed his Second Piano Concerto in 1901, after he was treated by hypnosis.  The Bolshevik Revolution led what Russian composer of The “Bells” cantata and “Rhapsody on a Theme of Paganini” to flee to the United States?

ANSWER:  Sergei RACHMANINOV
3.
As an intransitive verb, this nine-letter word means to utter words or syllables articulately. What is this word, which when used as a transitive verb, means to pronounce accurately and clearly, or to state forth systematically?

ANSWER: ENUNCIATE
4.  
THIS IS A COMPUTATION QUESTION.  What is the product of the binomials 7x - 4 and 5x + 6?

ANSWER:  35x² + 22x - 24 (35 x squared plus 22 x minus 24)

5.  
Ichthyology (ICK-thee-all-o-gee) is the study of what class of animals that live underwater?

ANSWER:  FISH
6. 
THIS IS A COMPUTATION QUESTION.  What is the ratio (dimensions ignored) of the surface area of a cylinder with radius R and height H to its volume?

ANSWER: 2(R+H)/RH
7.
In 778 AD, these fiercely independent people decimated Charlemagne’s rear guard in the Pyrenees. Who are these people that are still agitating for independence today from Spain?

ANSWER: BASQUEs

8.  
His poems “The House of Fame” and “The Book of the Duchess” earned him a spot as the first writer buried in Westminster Abbey’s Poets’ Corner, but what British author is known best for his short story collection The Canterbury Tales?

ANSWER:  Geoffrey CHAUCER
9.  
This man also sculpted twelve stone apostles for New York’s Cathedral of Saint John the Divine, as well as the marble head of Lincoln in the Capitol Rotunda, but who is best known for carving four heads into Mount Rushmore?

ANSWER:  Gutzon BORGLUM
10.  
It has two pairs of walking legs; the other two pairs of legs act as struts against the inner wall of its shell.  Which crustacean hides its soft abdomen inside empty shells of sea snails, and is often owned as a pet?

ANSWER:  HERMIT CRAB
11.  
At Ragnarok, what god of mischief will lead the giants against the gods?

ANSWER:  LOKI
12.  
Artificial ones can be produced using chrome and ammonia alums, and they owe their color to small amounts of chromium contained within them.  What precious gem form of corundum, the July birthstone, is known for its red color?

ANSWER:  RUBY
13.  
THIS IS A COMPUTATION QUESTION.  What is the slope-intercept form of the equation 4x – 6y = 18?

ANSWER:  y = 2/3x - 3 (y equals two-thirds x minus 3)

14.
Ernest Hemmingway considered this short story his finest work. In it, Harry, a novelist, dies of gangrene while on a safari in Africa. What is this story named for the “lonely mountain”, Africa’s tallest?

ANSWER: The SNOWS OF KILAMANJARO 

15.
He surrended for the last time in 1886 to General Nelson Miles, after over ten years of resistance against the US Army in New Mexico and Arizona. Who was this Apache chieftain?

ANSWER: GERONIMO
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.
1A.
What Virginia county is the smallest in terms of population?

ANSWER: HIGHLAND County

1B.
John Walker Lindh was influenced after reading the Autobiography of Malcolm X. What author really wrote the Autobiography of Malcolm X?

ANSWER: Alex HALEY
2A.
What is the name of the illegitimate daughter in The Scarlet Letter?

ANSWER: PEARL
2B.
What name is given the formal adoption of a treaty by a country through an affirmative vote of its legislature, achieved in the US Senate by a two-thirds vote?

ANSWER: RATIFICATION or RATIFYING
3A.
Patrick Leahy has been opposing, on civil liberties grounds, many of the Bush Administration’s law enforcement actions. What state does Leahy represent in the Senate?

ANSWER: VERMONT
3B.
What term is used to describe the ratio of work performed to the energy input?

ANSWER: EFFICIENCY
4A.
What is the name of the raw, unfabricated polymers used to make all or most of a plastic?

ANSWER: RESIN
4B. 
THIS IS A COMPUTATION QUESTION. What is the least common multiple of  the integers 12, 15 and 24?

ANSWER: 120

5A. 
In the tessellation of the plane using triangles, how many figures meet at one point?

ANSWER: 6
5B. 
What title character of a PBS children's show is a pet of the emperor of ancient China, and one of five members of the royal cat family?

ANSWER: SAGWA
6A.
Who are either of the two women who attempted to assassinate Gerald Ford in a three-week span in 1975?

ANSWER: Lynette “Squeaky” FROMME or Sara Jane MOORE
6B.
What part of speech does the dependent clause serve as in this sentence? I do not know when I am leaving.

ANSWER: ADVERB
7A.  
While in exile from Emperor Napoleon III, who wrote both the epic poem “Legend of the Centuries” and the novel Les Miserables (miz-eh-RAB-luh)?

ANSWER:  Victor HUGO
7B.
The Battle of Poltava occurred during what early 18th-century war between Russia and Sweden?

ANSWER: GREAT NORTHERN War

8A.  
A solo violinist dresses as the title character in which minimalist opera, the most famous work of Philip Glass, that deals with an early twentieth century physicist?

ANSWER:  “EINSTEIN ON THE BEACH”
8B.
What adjective is used to describe a material containing many small cracks and holes, which can often be used to allow material such as water and oil to pass through?

ANSWER: POROUS
9A.
What substance is also known as “black lead” and is composed of flat planes of carbon atoms?

ANSWER: GRAPHITE
9B. 
THIS IS A COMPUTATION QUESTION. Using the product rule, what is the derivative of e to the x times the sine of x?

ANSWER: (ex) * (cos x) + (ex) * (sin x) 

10A. 
THIS IS A COMPUTATION QUESTION.  What is the surface area of a cylinder with radius 7 and height 3?

ANSWER: 140pi
10B. 
In what 1954 movie does Marlon Brando, playing the character Terry Molloy, lament his previous experience as a boxer, claiming he "coulda had class, coulda been somebody, I coulda been a contendah"?

ANSWER: ON THE WATERFRONT
Third period: 15 tossups
1.  
This writer’s early work showed an interest in futurism, such as in the poetry collection “A Twin in the Clouds.”  Later on, though, what Russian turned to introspective religious novels, including Safe Conduct and Doctor Zhivago?

ANSWER:  Boris PASTERNAK
2.  
What is the conjugate of the binomial 4x – 11?

ANSWER:  4x + 11 (4x plus 11)

3.  
Book Seven of the work contains the Allegory of the Cave, presenting the philosopher’s concept of ideal forms.  In what work does Plato describe the ideal state, led by philosopher-kings?

ANSWER:  The REPUBLIC
4.
On July 31, 1777, the Continental Congress voted to use the military services and knowledge of one Marie-Joseph (MAH-ree ZHOH-seff) Paul Yves (eev) Roch (roash) Gilbert (ZHEE-bayr) du Motier (moh-TEE-ay), who is better known to Americans as what Marquis?

ANSWER: Marquis de LAFAYETTE
5.  
What dormant stage in the metamorphosis of an insect comes after the larval stage and before adulthood?

ANSWER:  PUPAL stage (accept CHRYSALIS)

6. 
THIS IS A COMPUTATION QUESTION.  What is the cosecant of 180 degrees?

ANSWER: UNDEFINED
7.  
Minoru Yamasaki and Emery Roth co-designed what pair of framed cantilever 110-story skyscrapers, completed in 1973 but destroyed on September 11, 2001 by terrorists?

ANSWER:  WORLD TRADE CENTER Twin Towers

8.
F equals the quantity G times M1 times M2 divided by the quantity r squared, where G is a universal constant, M1 and M2 the masses of the two objects and r is the distance between the two objects. What property is measured by this formula?

ANSWER: GRAVITY or LAW OF UNIVERSAL GRAVITATION
9.
What ten-letter word refers to a member of a primitive people who dwelt in caves and holes, or to someone who is hopelessly reactionary and out-of-date?

ANSWER: TROGLODYTE
10.
Among his achievements was rebuilding the Second Temple in Jerusalem. Who is this man that ruled Judea between 37 and 4 BC, best known for his attempts to kill the infant Jesus?

ANSWER: HEROD the Great

11. 
THIS IS A COMPUTATION QUESTION.  An altitude of length 11 splits the side of a triangle into lengths of 7 and 13.  What is the area of the triangle?

ANSWER: 110
12.
What Mexican War hero did Franklin Pierce defeat in the election of 1852?

ANSWER: Winfield SCOTT
13.  
Hebrew for “sons of the covenant,” what largest American Jewish service organization includes an Anti-Defamation League to fight anti-Semitism?

ANSWER:  B’NAI B’RITH (buh-NAY BRITH)

14.  
They range in size from the Ayres variety, at only sixteen inches in length, to the harpy variety, which can grow to forty inches.  What type of bird lives in an aerie (IR-ee) and serves as a national symbol of the United States?

ANSWER:  EAGLE(s)

15.
During World War II, this American poet lived in Italy, making several broadcasts condemning the American war effort. He was found not guilty by reason of insanity and spent 12 years in St. Elizabeth’s Hospital in Washington DC. Who is this man, the author of Personae and the Cantos?

ANSWER: Ezra POUND
SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.
1.  
Which Irishman wrote the plays “Riders to the Sea” and “The Playboy of the Western World?”

ANSWER:  John Millington SYNGE 

2.  
During most of the era, ancestral North America and Europe were located in the tropics, explaining why salt deposits and fossil reefs occur in those places.  Lasting for 375 million years, what geologic time interval began with the Cambrian Period?

ANSWER:  PALEOZOIC Era

3.
What is the name given to an operation performed on a database that extracts certain fields from records that match predefined paramaters, such as all customers living in Virginia?

ANSWER: QUERY
4.
The World Trade Organization met in Doha to discuss further relaxing of trade barriers. Doha is the capital of what country?

ANSWER: QATAR
5.
Although Ghandi was the spiritual father of Indian independence, who was the first Prime Minister of India?

ANSWER: Jawaharlal NEHRU
All questions © 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.


